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of trigonometric Domain and Range 

 

 

Domain function =R                            Domain function=R 

Range function= [-1,1]                         Range function=[-1,1] 

 

 

Y=tan x 

Domain function =Real except[x=
𝒏𝝅

𝟐
],n=±𝟏. ±𝟑..         

 Range function=R                                         
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Y=cot x 

Domain function=Real except[x=𝒏𝝅],n=𝟎 ± 𝟏. ±𝟐.. 

Range function=R 

 

Y=sec x 

Domain function =R except[x=
𝒏𝝅

𝟐
],n=±𝟏. ±𝟑 ….          

Range function=R except [-1,1]   

Y=csc x 

Domain function=R except[x=𝒏𝝅],n=𝟎 ± 𝟏. ±𝟐.. 

 Range function=R except [-1,1] 

1.6 Inverse of function 

)𝑥( 1−𝑓) have inverse is signed as 𝑥Function ( 

3the inverse of the function y=8x indF: 1 Example 

Solution/ 

√𝒚𝟑

𝟐
X= → 

𝒚

𝟖
=3x            
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𝒊𝒔
√𝒙
𝟑

𝟐
𝑰𝒏𝒗𝒆𝒓𝒔𝒆 𝒐𝒇 𝒚 = 𝟖 𝒙𝟑 

-Inverse of trigonometric function  

Y=𝐬𝐢𝐧−𝟏 𝒙 → 𝒙 = 𝐬𝐢𝐧 𝒚 

Y=𝐜𝐨𝐬−𝟏 𝒙 → 𝒙 = 𝐜𝐨𝐬 𝒚 

Y=𝐭𝐚𝐧−𝟏 𝒙 → 𝒙 = 𝐭𝐚𝐧 𝒚 

Y=𝐜𝐨𝐭−𝟏 𝒙 → 𝒙 = 𝐜𝐨𝐭 𝒚 

Y=𝐬𝐞𝐜−𝟏 𝒙 → 𝒙 = 𝐬𝐞𝐜 𝒚 

Y=𝐜𝐬𝐜−𝟏 𝒙 → 𝒙 = 𝐜𝐬𝐜 𝒚 

Example 2: Find the value of x. 

𝐱 = 𝐬𝐢𝐧−𝟏
𝟏

√𝟓
+ 𝒄𝒐𝒔−𝟏

−𝟐

𝟑
 

Solution// 

X=∅ + 𝜶 

𝐬𝐢𝐧−𝟏
𝟏

√𝟓
= ∅  → 𝐬𝐢𝐧 ∅ =  

𝟏

√𝟓
 &   𝐜𝐨𝐬 ∅ =

𝟐

√𝟓
        

𝐜𝐨𝐬−𝟏
−𝟐

𝟑
= 𝛂 → 𝐜𝐨𝐬 𝜶 =  

−𝟐

𝟑
       &     𝐬𝐢𝐧𝜶 =

√𝟓

𝟑
              

  

𝐬𝐢𝐧 𝒙 = 𝒔𝒊𝒏 (𝜶 + ∅) = 𝐬𝐢𝐧 𝜶 𝐜𝐨𝐬 ∅ + 𝐜𝐨𝐬 𝜶 𝐬𝐢𝐧 ∅ 

  

𝐬𝐢𝐧 𝒙 =
√𝟓

𝟑
∗

𝟐

√𝟓
+

𝟏

√𝟓
∗

−𝟐

𝟑
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𝐬𝐢𝐧 𝒙 =
𝟐

𝟑
+

−𝟐

𝟑√𝟓
→ 𝒙 = 𝐬𝐢𝐧−𝟏(

𝟐

𝟑
+

−𝟐

𝟑√𝟓
) 

 

OR 

𝐜𝐨𝐬 𝑿 = 𝐜𝐨𝐬(𝜶 + ∅) = 𝐜𝐨𝐬 𝜶 𝐜𝐨𝐬 ∅ − 𝐬𝐢𝐧 𝜶 𝐬𝐢𝐧 ∅ 

 

𝐜𝐨𝐬 𝑿 =
−𝟐

𝟑
∗

𝟐

√𝟓
−

√𝟓

𝟑
∗

𝟏

√𝟓
→ 𝑿 = 𝐜𝐨𝐬−𝟏(

−𝟒

𝟑√𝟓
−

𝟏

𝟑
) 
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